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eneral Instructions to Candidates :

~

There is a ‘Cool-off time” of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART - A
Answer all questions from 1 to 5. Each carries 1 score. 5x1=5)

1. The input operator in C++ is

2. character is stored at the end of the string.

3. The process of breaking large program into smaller sub-programs is called

4.  Name the keyword used to declare variable in JavaScript.

5. Expand MIS.

PART - B
Answer any 9 questions from 6 to 16. Each carries 2 scores. 9x2=18)

6.  List the type modifiers in C++.

7. Rewrite the following code using for loop :
ntx=1;
start :
cout << x;
X=x+5;
if (x <=50)

goto start;

8. (1) Define an Array.

(i1) Initialize an integer array with 5 elements.
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1. C++eel gpadang 630a]c0gad @1R)BHYaM).
2. 80} aShuilon @RAITLIMOGBID HIOBHSE @16

3. &0) el galowoalom §alol® Geld(UNIMEU3 @Rydel 20Q)aM ((Sle

ag)am) alo@)aM.

4. JavaScript-08 caidlomild WlGoad 6a1QaIdmd Dalc@oudlanam leaidauslong

CalHOY)®))D.
5. MIS-00 ademajalo af)9)®d.

al10dg — enil
6 2)®@3 16 EOWBB ¢21084IBEIG3 ago@BIENC 9 AHEINOTIM DODOHA)®) .
2 capod aflos. 9x2=18)

6. CHtoel 06Sa| cadWlan@O)BBIONS Cald af) )@ .

7. al)019S 6GHS)OTIAENIN CaldWo cHWlom for Loop Dalc@oufla] adgl ag)9)@)d.
ntx=1;
start :
cout << x;
X=x+5;
if (x <=50)
goto start;

8. (1) @rco MIBQ)aillamd.
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10.

11.

12.

13.

14.

15.

16.

Write the port number for the following web services :
(1)  Simple Mail Transfer Protocol

(i1)) HTTP secure (HTTPS)

What is the use of frame tag in HTML ? What is its limitation ?

Write the HTML code to display the following using list tag :
(i) Biology Science
(i1)) Commerce

(ii1)) Humanities

What is the difference between isNaN( ) and Number( ) functions in JavaScript ?

What is CMS ? Give two examples.

First table containing 4 rows and 3 columns, second table contains 5 rows and
2 columns, then the Cartesian product table contains rows and

columns.

How Business Process Re-Engineering (BPR) is related to Enterprise Resource

Planning (ERP) ?

Define the terms :
(i)  Cyber Forensics

(i1)) Infomania
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(1)  Simple Mail Transfer Protocol

(i1)) HTTP secure (HTTPS)

10. HTML-eel ‘Frame’ souflo 9al1c@owo ag)® ? @GR alGlAIGIHUd af)$)®)d:.

11.  anaies @anldlanam elqy oaeosnaiomas HTML ¢30a af)9)m)s :
(i) Biology Science
(i1)) Commerce

(i11)) Humanities

12, JavaScript-ee1 isNaN( ) 9o Number( ) aDot)aHM)o @AIENSS Q100 af)9I®))d.

13.  CMS ag)amo@m3 ag)am ? 0ME 9Ba006Mo af)9)®)d.

14. samoae o™ csenilgl@d 4 rows-9o 3 columns-9o, NI CSENISIG3 5 rOWS-9o
2 columns-9o 96N HOAGIAHUM G I0AES ¢SenilSlod rows-9o

columns-9o ©6M2OWIG@IHN)o.

15, enlladlmqy” eapauqy dl ageailafildlon)e af)aBdeenIay” aleavoday” gjoailon)o

®221@3 af)eBBOM MITWea|SIBleaaN) ?

16. 21)016S 6RHIS)TDIGEHNM 1B6BU3 M18Q]a lae)d :
(i)  Cyber Forensics

(1)) Infomania
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17.

18.

19.

20.

21.

22.

23.

24.

PART -C
Answer any 9 questions from 17 to 27. Each carries 3 scores. 9 x3=27)

Compare the selection statements ‘if > and ‘switch’.

Write a program in C++ to accept a string with white space like “good morning” from

the keyboard and display the same string.

Compare static webpage and dynamic webpage.

(1)  What is the use of reserved characters for HTML entities ? 1

(1)  List any four reserved characters and its use. 2)

Write the built in JavaScript functions used for the following situation :
(i)  Display warning message in the screen.
(i1))  Character at a particular position.

(i11)) Convert uppercase to lowercase.

Write the merits and demerits of free webhosting.

What is key ? Explain any two keys in a relational database management system.

Define the term Data independence. Explain different levels of data independence.
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17.

18.

19.

20.

21.

22.

23.

24.

a10dg — avl

17 2)®@3 27 21600088 €2 108BEIe3 ago®sslene 9 afaNOTIM 2OMOOAN)®)d:.
3 capod afloes. 9x3=27)

OAVEISUM CAVGOAWRBHBOW ‘if” Qo ‘switch’ Do ®ll@3 BIO®A Y0 612 1Q)M.

“good morning” GaldAL! QANBNBDHUBES NSWVIG TVHIVAV 988 Q02 ld6I3Ud
Sleenindw’ alyl aufleclee)ame @eal (@IBAUdlaflemalomyp oas C++ ealdwo

) YD),

ggoglcs; oAl GalR)o 0OWMOINlD: OQlMI GCalR)o @IO@A Yo 6)21Q1dd.

(i) HTML ag)adlglay ary@as olavdaiiw’ »oohSoib@)oSs 2alc@owe af)a® ? (1)
(i) ago@®lege Moel AlaLAAIW  GIODHSNHBlo G@RAIWIOS  OalCONQN

) YO, Q)

@069 |0@IN  AVMBAREBHET  DalcWOUTlEN)NINMB  HFIAIN  ROADAV(Blaigloa]
Ni@3Q eDAB aNoUWIHMBHUD af) )M :

(i)  aVYIM ALEMYoO HAIMI CalZ]B3 BYUOIAIBN ).

(1)  B0) (ICMYB MVNIMBINBH GRHHUOBID DalGIUI LD .

(11) aelle (Uppercase) GRE:HO6GID 6210l (Lowercase) GRAHONIBN)D.

(@0l ©A1MiIEa00MV00lwlHG CAMBG)o CaldRIYDHBIo af) 9)@)d.

< 2 g Nd g ~ N
Key’ agyimo@B ag)am ? dleelaem@d cawgoesniaqy ademezeaad alquamleont osme

‘Key’-26800)0la] ag) 91@)d.

wogo enamaLleaidaullom aldg)a lee)d. al@ITY oo adgo sHadaullealmdavadadiom

)02 af)9)®).
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25.

26.

27.

28.

29.

Explain any three situations to modify the structure of a table with the help of alter

command in SQL.

Explain the merits of ERP system.

Compare GPRS and EDGE.

PART -D
Answer any 2 questions from 28 to 30. Each carries 5 scores. 2x5=10)
Identify the built in C++ function for the following cases :
(i)  to convert—25 to 25.
(i1)) compare ‘computer’ and ‘COMPUTER’ ignoring cases.
(ii1) to check the given character is digit or not.
(iv) to convert the character to ‘B’ to ‘b’.

(v) to find the square root of 64 or a number.

(1)  Write the name of tag used to group related data in an HTML form. 1

(i1))  Write the HTML code to display the following webpage : “4)

Username

Password

Submit Reset
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25.

26.

27.

28.

29.

SQL-eer ‘Alter’ $20mMUlO0d MLa00QOMIM3 ESeNIFEHR ~LISM Ao AIO)AMAM

aBO®RIENe MM VMR AflVOBRIB)B:.

ERP auoailwomomlend camadd allaidlon)d.

GPRS 90 EDGE 90 ®00®ao 612 1Q))é>.

alodg — aul
28 ay®@3 30 2100WBS ¢218BEIG8 MlaN)e ago@m@lene 2 afaNevIm oMWA.
af) 9. 5 oA afloo. 2x5=10)
@I0Y al0WIAMAI a1QaomMas CH a8 @3S eI aNoWeUMBHUB af)P)®)
(i) 25 om 25 @aryas] @0g)d-.

(i)  ‘computer’ agyan aaslom ‘COMPUTER’ ag)am Q1009)200 @@ alehalo

alGlEMIBNIOD IO A Yo 612 1Y) .
(iii) ®mAlEnM® BPOPHA WL @RYEEMI af)aN alBIEUIWIBE)H.
(iv) ‘B’ a)am @RS00 D’ @Rydsl 20Q)d>

(v) 64 6Bcwd ERIHOIOPEWI APIVA 0)5 HNe)alSlo)d.

(i) HTML form calgdloe! snimbass cabQdHes (o] ©alQaion 9alc@ouilaanam
SOUIlOM Cal® af) ) M) @)
(i) o8¢ 2@ lBHAlafldleman ealmi calz aidmosaaomes HTML code

)9} : “4)

Username

Password

Submit Reset
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30. Consider the table student with attribute admno, Name, course, percentage. Write the

SQL statements to do the following :

(1)  Display all the student details.

(1)) Modify the course ‘Commerce’ to ‘Science’.

(ii1)) Remove the student details with percentage below 35.

(iv) Create a view from the above table with percentage greater than 90.
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30. admno, Name, course, percentage @)senl@ c086m03 988 student table alGlwemla]

®06%9a|0w)MaIgas SQL cquaeandav af)9)e)d :

(1) a)EJo PSIHB)OSW)o AU BYUDNIIN)D.

(i) ‘Commerce’ af)am eHovalom ‘Science’ @RASI 20Q).

(iii) 35 @DOMBTIM GVHYWIBR B3)S1BHB)OS ANAUIOBUD ATBNo 6)21Q))d.

(iv)  90-@3 &3)S) @3 VVOAOIMo DSBS KH)SBHBIOS ‘VIEW DENBIG) .
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